1. To make a profit on COTTON,
you would buy it in (A)

for (B) __ gold coins and sell it in (C)

Make a Profit

for (D) gold coins.

You would make gold coins in profit.
[subtract (B) from (D), that’s (D)-(B)="7]

2. To make a profit on SILK,

you would buy it in (A) for (B) gold coins and sell it in (C)

for (D) gold coins.

You would make gold coins in profit.
[subtract (B) from (D), that's (D)-(B)=7]

3. To make a profit on PORCELAIN,

you would buy it in (A) for (B) gold coins and sell it in (C)

for (D) gold coins.

You would make gold coins in profit.
[subtract (B) from (D), that's (D)-(B)=7]

4. To make a profit on IVORY,

you would buy it in (A) for (B) gold coins and sell it in (C)

You would make gold coins in profit.
[subtract (B) from (D), that’s (D)-(B)=7]

5. To make a profit on IRON,

you would buy it in (A) for (B) gold coins and sell it in (C)

for (D) gold coins.

for (D) gold coins.

You would make gold coins in profit.




